= BARRACUDA

ASSEMBLING INSTRUCTION

UNIVERSAL

RACE MIRRORS FITTING

WWW_BARRACUDAMOTO.COM

3

<
3\
‘JJ
)

Z,

\

52

LEGEND

. MIRROR

SPECCHIO
ESPEJO
SPIEGEL
MIROIR

. NUT @6

DADO @6
TUERCA @6
MUTTER @6
ECROU @6

3. HEXAGON SOCKET HEAD CAP SCREW M6X25
VITE BRUGOLA A TESTA CILINDRICA M6X26
TORNILLOS DE CABEZA CILINDRICA M6X256
INNENSECHSKANT M6X25
VIS A TETE CYLINDRIQUE A SIX PANS CREUX M6X25




